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,ssa/
.,w,ﬁ
Bi{g 181H 1H2H 1H3H 184H 185H
=] (=) ()] (X) (%) (K)
BHRE SADYBRTGRET BsBoYUx BROO<h# EROUIRTHBES
Fxrehs NLRZ I3t54 REUEHNX RHEMZ
& R BINGETS Ca&MgSt) N+ BLFHE HoIUER
B %5t %5t %5t %5t
; kcal/ Tz AIE < Eg/BEEE g/ R7KAEYI9/ 1539 kcal/T=AlX < Eg/BEEy/ k7K1 ¥Ig/ 1B 53 kcal/T= AL < Eg/ B g/ RKIEYI9/ 1R 539 kcal/ = AlE < Bg/ BEE g/ RAKAEI9/ 53 kcal/T= Al < Eg/ i8E g/ R7KIEYIg/ 1B 539
@ 224Kcal/10.59/10.8g/20.8g/2.3g 158Kcal/6.19/9.89/11.99/2.1g 160Kcal/6.2g/10.99/10.69/1.4g 132Kcal/8.49/3.39/17.89/1.4g 151Kcal/6.19/10.59/8.79/1.59
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